CRLTTER g
v » 16 CLEAR, B= 17390 v
PR 20 CY = 40 TMPUT B %(A)-B asal ot
“ @ 36 R=R+40 j GOTO 20 WV;A
$ DRTA: 5
1 =32760 ,-24534, 10402 ;7A453 4, 3214, A2 35%, 30584,
FZ" 3058 ,-30584 ,~a4534 , Ban 4, 3329, /0900
J
BALLY PRULLIT ,
1, 10 CLEAR ;. INPUT FoR A=1838Y +o I9844 STEP 40 ”/
3 do0 C{=40 ) input B %(A=B ¢
P§ _ 30 C¥=40)inpnt B % (A+D=B ek

40 NEXT A § STOP
"\ Save on TAPE BY:
NT=0 | IPRINT | LiaT | Priat” [ Return { TV =13 Ruwn
Resetr machine
@< 10 CLEAR; F6R A=( to 8O
20 .inpat B, @Q(A)=B; NEXT A

TYPE THIS LINE IV, REBBASE PAUSE , PRESS GO
NT=0 ; (PRINT ; FOR A =/to 80 5 CY =40 ; PRINT @(A); NEXN R

Pense +u A
AP ¢ N Run Tris ANO INPUT

/ DATA AT TRIS PanwT.

THEN TYee:
s RETURN
TO RUN PRoGRAM  USE SINPUT
¥ OATH| -32359 | /28 JO242 Pt 2 /28
NoTE & ~2/89¢ | 32758 866 | ~32758 | ~2/876
READ DATA “23275% | 2720 |29453¢ | RR40O | ~QA9s3¥ |732/306
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-2¢53Y¢ | —32/2¢ |TA953¢% | 8870 | F2358 | — 31896
“2A35E |~ 3I%4¢C | 2235 SHO =2238 % | ~ 7B
~9x35% [~32/26 [TAF3ER < 4o ~23 352 2730
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